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‘The splitting of white light into constituent
colours is refered to as
A reflection
C.diffraction

B. refiaction
D. dispersion

Amethod of separation in which only one
substance is recovered from a mixturc of
two_ substances is
A distilation
C. decanting

B filtration
D. evaporation

Which one of the following organs in the
human body belong to a different system from
the other three?

A, Skin

B. Kidney

C. Rectum

D. Lung

All of the following is statements

about reproduction in human beings are true

EXCEPT

A. Menstruation stops during pregnancy

B. The zygote implants itselfon the wall of
the uterus

C. The blood of the mother and foetus do
not mix

D. Fertilization takes place in the uterus

‘The diagram below represents a st up that
can be used by a science teacher on an
experiment on air

Drinking
glass

Burning
candle

Plate
Water

‘The main aim of the experiment was to
demonstrate that

A. air occupies.

B. air is used up during burning

C.air expand when heated

D. pressure in air s exerted in all directions

Which one of the following plants stores food
in the stem?

A Sweet potato B.Irish potato
C.Onion D. Carrot

7. Whichone of the following environmental
pollutants harms water ONLY? -
A. Untreated sewage B, Used oil
C. Farm chemicals D, factory wastes

5 The table below shows characteristics of
some inveriebrates

Name No.of Body [ No. of legs
Parts

Weevil 3 x

Y 2 8

Wasp z &

X, ¥ and Z represents

x b3 7
A8 Cockroach 3
B8 Crab 2
c6 Tick 3
D.6 Spider 2
9. The diagram below shows a sct up used by

a science teacher to demonstrate a certain
effect of eletricity.
Bartery

f—Copper wire

Strand of steet wool

‘The effect demonstrated is made use of in
making

A. conductors

C. electromagnets

B. Light bulb
D. conductors

10. Which one of the following pairs consist of
renewable sources of energy?
A Kerosene and firewood
B. Wind and coal
C. Biogas and charcoal
D. Waterfall and petrol

11, Whichone of the following correctly shows
the path taken by urine from the kidney?
A Urethra —s Bladder —s Ureter
B. Urcthra —. Ureter —s bladder
C. Ureter —y Bladder —y Urcthra
D. Ureter —s Urethra — bladder
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12.

13.

14.

15,

16.

Heat is lost o the surrounding during the 17.
processes of 3
A. condensation and freezing

B. freezing and melting

C. condensation and evaporation

D. evaporation and melting

Which one of the following is a characteristic 18.
of the type of soil that can be used to make
long ribbons?
A Cracks when dry
B. Have low capillarity
C. Have large air spaces
D Have a rough texture
19.
Three of the four statements below about
manure are true. Which one is NOT?
A Nutrients in manure are released vey fast to
the soil
B. Manure improve the water holding ability of
soil
C. Manure assist soil particles to bind together
D Manure improve air circulation in the soil
20.
Identify the most appropriate method among
the four given below that can be used to separate
a mixture of sand and salt after water has been
added.
A Filtering
C.Sieving

B. Decanting
D. Evaporating

The diagram below represent a set-up that
is used tolift a load

21

The least amount of force would be used if it is
applied at the point marked

AY B.Z

cw D.X

A serew isa kind of a simple machine that
makes work easier by

A. Decrease the load

B. Changing direction of effort

C. Decreasing the load distance

D. Increasing the effort distance

Which ane of the following is a characteristic
of beaks of birds. that feed on nectar?

A. Pointed and short

B. Curved, long and slender

€. Pointed , long and slender

D. Strong and curved

Which one of the following NEED NOT be

the same when investigating drainage in

different types of soil?

A.Size of bottles collecting the draining
water

B. Amount of 5o

C.Size of funnels

D. Amount of water added to the funncls

in the funnel

Steam can be used to drive a wheel as the
set up shown below

B S 4

mm

i Tin cam with

Heat

Which one of the following would be the easiest
method that can be used to increase the speed of
the rotating wheel?

A. Increasing the size of blades

B. Using blades made from lighter material

C. Increasing the amount of heat

D. Increasing the size of the small holes

Which one of the following is a CORRECT
statements about pulleys? Pulleys

A increase friction

B reduce the weight of the load

C. change direction of force

D. inerease speed
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22.

Green

Flowering Non-Flowering Y

The chart below represents a simplified
classification of plant

Plants

Non -Green

1

Mushroom

taize

23.

24.

Pea X Pine

Which plants are represented by X and Y/

X ¥
A cedar Yeast

B. Grass Bread mould
C. Sugarcane Toadstool

D. Moss Fem

Which one of the following are two examples of
methods that can be used for making water safe
for drinking?

A Boiling and decanting

B Filtration and addition of chemicals,

C. Decantation and filtration

D. Addition of chemicals and boiling

‘The diagram below represents a section of
a heart of an animal

‘Which one of the following statements is TRUE?
AR takes blood out of the heart while Q

takes it in
B. R has no valves while Q has valves
€. R has a thick wall while Q has thin walls
D.R carries oxygenated blood while Q

carries deoxygenated blood

a

26.

27,

Air

Coloured

water

28.

Belowis an example energy transformation
chemicals — electrical —» heat— light

In which one of the following does the energy
transformations shown take place when used to
produce light?
A. Car battery
C.Electric bulb

B. Geothermal
D. Bicycle dynamo

Which ane ofthe following will pollute
water ONLY?

A. Factory waste

B. Untreated sewage

C. Used oil

D. Farm chemicals

The diagram below represents a weather
instrument constructed by a group of pupils
who made a mistake while constructing it

Botile—

i

Narrow
ube

O] Thread

tight cork.

Scale—

— Stand

‘The mistake made during the construction was

A.closing the mouth of the bottle

B. having the scale reading from the bottom

C. having the container with coloured water
open

D. using little amount of colured water

A pupil gave the following reasons as to why

dairy cattle are given commercial feeds

(i) Only when fodder crops and pasture are
not available

(i) Giiven only to cattle under 7ero grazing

(i) To increase milk production

(iv) To supplement other feeds

Which two reasons are CORRECT?

A (and (i) B (i) and (iii)

C.(iif)and (iv) D. (i) and (iv)
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20.

30.

31

32

33.

34

Which one of the following consists of 35
magnetic materials only?

A. Cobalt., steel and iron.

B. Copper, tin and aluminium

€. Steel,alluminium and cobalt

D. lron, tinand copper

Why do sand particles seem to move up and

down when put in glass of cold water that is

slowly heated at the bottom?

A They rise together with water when heated
and come down on cooling

B. They are carried by hot water which comes
down on coolirig

C. They become lighter than water when heated

D. They rise when heated and come down on
cooling

Which one of the following statements about
HIV and AIDs is TRUE? 36.
A. People living with HIVand AIDS arc advised
o eat small amounts of food at a time
B.HIVand AIDS is transmitted only through sex
before marriage
. People living with HIV and AIDS are thin
D, HIV and AIDS is result of a curse

Which ane of the following is NOT an essential
constituents of commercias| animal feeds?

37.
C. Carbohydrates

D. Proteins

‘Which one of the following consists of a pair of 38.

plants that CANNOT make their own food?
A Mould and puffballs

B. Ping and ferm

C. Yeast and cedar

D. Moss and toadstool

Which type of soil erosion would cause small and
shallow channels on a cultivated piece of land?
A. Splash erosion

B.Rill erosiom

C. Sheet erosion

D. Gulley erosion

The diagram below represents a
machine -

P 0
R

‘Which of the folllowing labelled P, Q and R would
represent the effort, load and fulcrum when the
machine is in use?

Effort © Load  Fulcrum
AP R Q
B. Q 12 R
c Q R P
D. P Q R

The following are effects of drug abuse
(i) Tmpaired judgement

(i) Truaney

(iif) Lack of concentration

(i) Addiction
) Rape

Which of them are health effects?

A (i) () B.(3) i (1v)
(i) () (iv) D. (i) i) (iv)

‘What is the name of the process by which water
vapour changes to liquid?

A. Freezing B Melring
C.Condensation D. Evaporation

“The diagram below shows a set-up that was
used to demonstrate a certain property of
matter

Coloured water
— Straw

Boute

Hand

The experiment is used to demonstrate that
A.ifyou heat air it will expand

B. air occupies space

C. liquids occupies space

D.ifyou heata liquid, it will expand
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39.

40.

41

4.

Why is it easier to push a box across a room 44,
while placed on rollers than without them? This

is because rollers

A. Make the box lighter

B. Reduce friction

C. Make the floor slippery

D. Raise the box height

Which one of the follawing groups consists
only of foodstuffs that protects the body against
discases?

A. Maize, rice, cassava

B. Carrot, orange, cabbage

C. Lemon, meat, spinach

D. Meat , fish, cashew nuts

45.

The following are signs and symptoms
observed ina certain child

(i) Hungry and erying a lot

(i) Large belly

(i) Thin and weak

(iv) Face with wrinkle like that of an old man

46.

“This child was most likely suffering from 4.
A Rickets B. Anacmia

C. Marasmus D. Kwashiokor

‘The table below shows characteristics of four
different fruits U, V W and X?

=

ruits

Characteristics 4Bk

Small and hairy

Long with lines of weakness

Brightly coloured with hard seed coa]

HGIEIE]

Hollow and fibrous

43.

Which one of the following fiuits i likely to be:
dispersed by exploding?
AE
CF

49.

B.G
D.H

Which one of the following groups consists 50
of only diseases that are immunisable?

A Bilharzia, yellow fever, cholera

B. Tuberculosis, whooping cough, tetanus

C. Diptheria, malaria, measles.

D. Hepatitis B, dysentry, poliomyelitis

When a transparcnt bottle with garden soil and

water was shaken and left o stand, layers formed.
‘The order in which the layers formed depended
on

A mass of the components

B size of the components

C. density of the components

D. amount of the components

Whichone ofthe following is likely to happen if
adiscase gradually kills antelopes in a grassland
habited by lions and vultures?

Grass Lions Valtures
A. Decrease  Increase Increase
B.Increase  Decrease  Increase
C.Increase  Decrease  Decrease
D Increase Increase Increase
Which one of the following is part of the
embryo of a seed?

A.Micropyle B.Cotyledon

C. Radicle D. Endosperm

‘Which one of the following is NOT important
1o consider when taking medicines?

A. The dose

B. The date of manufacture

. Duration to complete dose:

D. How to store the medicine

In which of the following cascs is friction
both an advantage and disadvantage?

A. Dragging a heavy box along the floor

B. Climbingup a hill

C. Drawing water from a well using a rope
D. Moving parts of a machine

Which one of the following components is
found in all environment?

A Air B. Plants

€. Soil D. Water

Which one of the following CANNOT be
recycled?

A Candle wax
. Rubber Tyres

B. Glass bottles
D. Saw Dust
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K.C.P.E TRIAL II 2010
SCIENCE

READ THESE INSTRUCTIONS CAREFULLY

Time: 1 hour 40 minutes

1. You have been given this question booklet and a separate answer sheet. The question booklet contains 50
questions

2. Do any necesary rough work n this booklet

When you have chosen your answer, mark it on the ANSWER SHEET, not in this question backlet.
HOW TO USE THE ANSWER SHEET

4. Use an ordinary pencil.

5. Make sure that you have written on the answer sheet:

YOUR INDEX NUMBER

YOUR NAME

NAME OF YOUR SCHOOL

6. By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.e Sehool Code Number
and the three-figure Candidate’s Number) in the grid near the top of the answer sheet.

7. Do not make any marks outside the boxes.
8. Keep the sheet as clean as possiblc and do not fold it

9. For each of the questions 1-50 four answers are given. The answers are letiered A, B, C, D. In each case only
ONE of the four answers is correct. Choose the correct answer.

10. On the answer shect the correct answer s to be shown by drawing a dark line inside the box in which the fetter
you have chosen is written.

Example
In the question booklet

25, Which of the following parts can be found in both males and females?
A. Testis B, Vagina
C. Urethra D. Ovary

The correct answer is C
On the answer sheet:
22(AI[BI[C] (D] 23 [A][B][CI(D] 24[A][B][CI[D} 25[A][B] & (D] 26[A]B)(C] (D]
Inthe set of boxes numbered 25, the box with the letter C printed in it is marked.
1. Your dark line MUST be within the box.
12. For cach questions ONLY ONE box is o be marked in each set of four boxes.
This question Paper consists of six printed pages.
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